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Match #7 (Tournament)


These questions are for use in the Virginia High School League’s Scholastic Bowl District Tournament  competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This title means ‘great general who subdues the eastern barbarians,’ and was originally given to men who defeated the Emishi and Ainu. The word bakufu (bah-koo-FOO) describes government under these officials when they became rulers, which they were between 1192 and 1867. The Kamakura, Ashikaga, and Tokugawa were the three dynasties of what military rulers of Japan? 
ANSWER: shogun(s)

2.
The implement in this art form comes in sizes ranging from 00 to 16 for smaller ones and B to S in larger ones. Variations on it include Tunisian and Irish. Typical steps include the single, double, half double, and triple. Its techniques include the Granny square and the shell stitch. Only one stitch is ‘active’ at a time, making dropped stitches a non-issue. What process of creating fabric from yarn is similar to knitting, but uses only one needle, called a hook? 

ANSWER: crochet
3.
This novel’s title character bribes the Saxon Thord with four thousand sestertii, saving his life from a trap in the Idernee palace. Another bribe from Simonides removes Valerius Gratus from his post as governor. In the epilogue, Iras announces she has killed Messala, who had condemned the title character to life as a galley slave. What novel by Lew Wallace is subtitled A Tale of the Christ and is remembered for its chariot race? 
ANSWER: Ben-Hur: A Tale of the Christ
4.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the surface area of a box of width 5 feet, length 8 feet, and height 4 feet, given that surface area is equal to 2 width times height plus 2 width times length plus 2 length times height, which is equal to 40 plus 80 plus 64?

ANSWER: 184 square feet
5.
The Sellmeier equation gives its relationship with wavelength.  For diamond, it is 2.4; for glass, 1.5; for water, 1.33; for air, 1.0003; and for a vacuum, exactly 1.  Used in Snell’s law, the arctangent of their ratios is Brewster’s angle.  Name this measure of how light’s speed is reduced in a medium that in optics is represented by n.

ANSWER: refraction index or refractive index (accept index of refraction)
6.
His plays include The Cow’s in the Corn and A Masque of Reason. He won the last of his four Pulitzer Prizes in 1943 for his poetry collection A Witness Tree. He wrote the poem ‘Dedication’ in 1961, but couldn’t read the paper – instead, he read ‘The Gift Outright’ at the Kennedy inauguration. What poet, born in San Francisco but associated with New England, wrote the poems ‘Out, Out-,’ ‘Fire and Ice,’ ‘The Road Not Taken,’ and ‘Mending Wall’? 

ANSWER: Robert Frost
7.
It used the so-called ‘Mercury’ design between 1916 and 1945. Its redesign in 1946 had the designer’s initials ‘JS’ on the front; some thought it meant ‘Joseph Stalin’ and that Communists were working at the U.S. mint. In 1965, it was changed from 90% silver and 10% copper to 75% copper and 25% nickel; it was the smallest in size and value of the three coins so changed. Franklin D. Roosevelt is on the obverse of what coins worth 10 cents? 

ANSWER: the dime
8.
Its stative form expresses a current state. It can also be expressed by the past participle alone, such as in the newspaper headline, ‘Lost child found unharmed.’ The Elements of Style discourages its use, considering it overly verbose. The preposition ‘by’ is used if you want to explicitly state whatever is performing the action. The sentence, ‘The tossup was answered by a player,’ contains what verb construction where the subject is acted upon by the object? 
ANSWER: passive voice
9.
Her most recent general election, held in 2006, saw a 67-31 victory over Republican John Spencer. She recently proposed an “American Health Choices Plan”, despite famously failing to pass a similar initiative fourteen years earlier. In a speech last June, she stated that ‘18 million cracks’ had been made in the metaphorical glass ceiling. Who is this New York Senator who took second place in the 2008 Democratic Presidential primary?


ANSWER: Hillary Clinton
10.
Its acute form may be caused by viruses or bacteria, while its chronic form may be caused by smoking and part of COPD.  It can be treated by antibiotics or corticosteroids.  Symptoms include an expectorating cough, wheezing, and sometimes green mucus.  Name this lung disease that is an inflammation of its namesake airways.

ANSWER: bronchitis
11.
This six-letter word comes from a Greek word meaning, ‘bereaved’ or ‘deprived.’ A printer uses this word to describe the bottom of a page when it contains a paragraph’s first line. A Solaris administrator uses this word to describe a process that has been taken over by init after the spawning process is killed. It also describes things that don’t have sponsorship, such as a project whose patron has moved on. What word describes a child that has lost both parents? 

ANSWER: orphan
12.
Steven Colbert enjoys using this device to defeat foreign politicians in boxing.  A patent infringement lawsuit brought by Anascape, Ltd., has led to a halt in sales of this system's predecessor, as well as the ‘classic’ style controllers for it.  Originally codenamed the Revolution, faulty equipment in early releases of the product led to damage and personal injury in many living rooms.  This is what console, known for its now-reinforced wrist strap and innovative nunchaku (nun-chuk) controller?


ANSWER: Wii
13.
After then-Prime Minister Pitt the Younger read his works, a proposed Poor Relief extension was cancelled. Friedrich Engels called his ideas, ‘a system of despair which struck down all those beautiful phrases about love thy neighbor.’ His ideas were behind the lack of response to famines in India and Ireland. His main concern was that population grows geometrically while means of supporting population only grows arithmetically. Who wrote the 1826 treatise, An Essay on the Principle of Population? 
ANSWER: Thomas Malthus
14.
It was discovered in 1940 by Martin Kamen and Sam Ruben and is used in the urea breath test.  This radioactive isotope’s half-life is 5,730 years and the development of its most famous use won Willard Libby a Nobel Prize in chemistry.  Name this isotope of carbon with eight neutrons that is used in radiometric dating.

ANSWER: carbon-14
15.
Its government included the Council of Imperial Cities, the Council of Princes, and the Council of Electors. The Investiture Controversy ended its rulers’ ability to appoint bishops. The Peace of Westphalia gave virtual independence to nobles in areas like Brandenburg, Saxony, Bavaria, and Austria. What empire, also known as the First Reich, ended in 1806 when Napoleon established the Confederation of the Rhine?

ANSWER: Holy Roman Empire
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
The Smith Tower, Pike Place Market, and the Space Needle are all located in what American city? 

ANSWER: Seattle
1B.
Publisher’s Weekly declared him the best-selling author of the 1990s. Who is this author of A Time to Kill and The Firm? 
ANSWER: John Grisham
2A.
Ida May Fuller received a check for $22.54 on January 31, 1940, becoming the first recipient of benefits from what American government program? 
ANSWER: Social Security
2B.
What part of the eye is made up of five layers and covers the iris and pupil?

ANSWER: cornea
3A.
What word refers to a condition in a deal that makes a too good to be true deal more realistic, or to receiving a ball or projectile that has been thrown? 

ANSWER: catch
3B.
Binney & Smith were their original manufacturers. What children’s marking item renamed its flesh color to peach in 1962, and comes in 8, 16, 24, and 64-packs? 

ANSWER: Crayola
4A.
What type of fibrous tissue connects bones to other bones?

ANSWER: ligament
4B.
‘Mr. Dynamite’ and ‘The Hardest Working Man in Show Business’ were among the nicknames of what entertainer that sang ‘Papa’s Got a Brand New Bag’ and ‘I Got You’?

ANSWER: James Brown
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  If x and y are inversely proportional to each other and x = 12 when y = 16, what does x equal when y equals 4?

ANSWER: x equals 48
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is 17.3 percent of 6000?

ANSWER: 1038
6A.
A ‘high-level’ one sets up a boot sector and an empty file system. A ‘low-level’ one is rarely done outside the factory. What is the process of preparing a disk for use, including deleting all data currently on the disk? 

ANSWER: disk format(ting)

6B.
Also known as Group 7A or 17, what group of elements include fluorine, chlorine, bromine, iodine, and astatine?

ANSWER: halogen(s)

7A.
What three French words describe a blow intended to put something or someone out of its misery?

ANSWER: coup de grace (koo dih GRAHS)
7B.
What founder of the National Review and host of Firing Line was paid tribute by President Bush and Newt Gingrich after his passing in February 2008?


ANSWER: William F. Buckley
8A.
What jazz musician wrote ‘Mood Indigo’ and ‘It Don’t Mean a Thing (If It Ain’t Got That Swing)’ but not ‘Take the “A” Train’? 
ANSWER: Duke Ellington
8B.
A Wedding-Guest is hypnotized at the beginning of what poem by Samuel Taylor Coleridge? 
ANSWER: ‘Rime of the Ancient Mariner’

9A.
It is available to 277 million households worldwide, making it the largest news channel in the world. What organization started on radio in 1922 and TV in 1932?

ANSWER: British Broadcasting Corporation or BBC
9B.
The mangonel, onager, and trebuchet were varieties of what ancient siege engine that hurled large projectiles such as rocks against enemy walls? 

ANSWER: catapult
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the complex product of (7 minus 4i), (9 minus 5i), and (2 plus 3i)? 

ANSWER: 299 – 13i
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  In simplest terms, what is the product of the fractions 3/7, 7/9, 5/11, and 3/10?

ANSWER: 1/22
Third period, 15 toss-ups, 10 points each

1.
A feature near the top end of this layer often includes Rossby waves; these are meanders in the greater feature that propagate from west to east, as part of the jet stream.  Carbon monoxide, nitrogen oxides and other organic compounds react in the presence of sunlight here in order to form ozone, causing respiratory distress and smog buildup.  This is what volitaile level of the atmosphere, sandwiched between the stratosphere and the Earth's surface?


ANSWER: troposphere
2.
When he last lived in America, this character got into trouble with Will Teasle, the sheriff of Hope, Washington. He lived in Thailand for several years, where he performed in stick fights and captured snakes. He was given two missions by Samuel Trautman, his commanding officer in Vietnam. These missions took him to Afghanistan and back to Vietnam. He was last seen freeing missionaries in Burma. Who is this former Green Beret, portrayed in four movies by Sylvester Stallone? 
ANSWER: John Rambo
3.
At the beginning of the novel, Parson Tringham discovers the title character’s ancestry. At the end of this novel, a black flag rises over Winchester prison, symbolizing a hanging, and the title character’s husband and younger sister, Liza-Lu, walk off together. The title character had been captured among the ruins of Stonehenge for killing her son Sorrow’s father, Alec Stoke. In what Thomas Hardy novel is the title character abandoned by Angel Clare? 
ANSWER: Tess of the d’Urbervilles 

4.
Its two forks originate in Boone and Elk Knob in North Carolina. It merges with the Gauley River near Fayetteville, West Virginia, forming the Kanawha River. Dams along its length create Claytor Lake and Bluestone Lake. Its south to north flow may support the claim that this river is the oldest in North America. Virginia towns along its length include Narrows, Pearisburg, and Radford. What is this river whose valley includes Blacksburg? 

ANSWER: New River

5.
Odysseus claimed she replaced Iphigenia with a deer when the latter was sacrificed before the Trojan War. During the war, she was struck on the ears by Hera. She guarded her maidenhood, killing Orion and Actaeon for taking indecent liberties. She killed the seven daughters of Niobe after Niobe mocked the relative infertility of her mother, Letona. In late antiquity, this Greek goddess took on the role of Selene, the goddess of the moon. Who was the twin sister of Apollo? 

ANSWER: Artemis
6.
It is the site of the West Coast’s oldest lighthouse. It was occupied for eighteen months between 1969 and 1971 in protest of government treatment of Native Americans. Between 1853 and 1907, its strategic location meant it was fortified. Between 1907 and 1963, its remoteness marked it for a more famous use. A ‘battle’ occurred here on May 2, 1946, after a gun gallery was captured by its inmates. What island in the middle of San Francisco Bay was the site of an inescapable prison? 
ANSWER: Alcatraz
7.
Developed by Wilhelm Wien and improved by J. J. Thomson, types of them include sector and quadrupole and can use Faraday cups or Microchannel Plate Detectors.  Configurations of them include SSMS, ICP-MS, and MALDI-TOF.  Name this device that uses an ion source, analyzer, and detector to identify isotopes based on their mass-to-charge ratio.

ANSWER: mass spectrometer
8.
He once visited the world of Pellucidar, which was located on the inside of the earth’s hollow shell. He was a year old when his mother died and his father was killed by Kerchak. He was raised by the Mangani, a tribe of undiscovered Great Apes, and given a name meaning ‘White-skin.’ He had a son, Korak, with his wife, Jane Porter. What Edgar Rice Burroughs character was born Lord Greystoke but became Lord of the Apes? 

ANSWER: Tarzan
9.
Its composer came up with the idea for it while on a Spanish holiday with Clifford Bax. It was labeled ‘a series of mood pictures’ by its composer. Its ending was a then-remarkable fade-out, accomplished by putting a chorus in an adjacent room and shutting the door. Its composer used the book What is a Horoscope for inspiration. In 2000, an eighth movement, called the Renewer, was composed. The ‘Mystic’ ends and the ‘Bringer of War’ begin what seven-piece work by Gustav Holst? 

ANSWER: The Planets
10.
James Buchanan lobbied Robert Grier to change his vote. President-elect Buchanan also wrote John Catron, asking for a decision on this case to be made before the inauguration. This decision was referenced by John Marshall Harlan in his dissent for Plessy v. Ferguson. Then-Chief Justice Roger Taney (TAW-ney) hoped his decision would settle the slavery question once and for all. What was this Supreme Court decision where living in a free state did not make slaves free? 

ANSWER: Dred Scott decision or Scott v. Sanford
11.
Historian Will Durant said he single-handedly founded biology. He believed there were four causes of nature: material, formal, efficient, and final. He described earthquakes and water evaporation in Meteorology. He was prone to error: in History of Animals, he claimed men have more teeth than women. He also asserted in Physics that heavy objects fall more quickly than light objects. Who was this teacher of Alexander the Great and student of Plato? 
ANSWER: Aristotle
12.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the prime factorization of 330, given that two of its non-prime factors are 33 and 10?

ANSWER: 2, 3, 5, 11
13.
T.S. Eliot wrote an essay about the problems of this play’s title character. Possible sources for this play include the Icelandic Saga of Hrolf Kraki and the Roman legend of Brutus. Its title character’s skill at wordplay is seen in quotes such as ‘A little more than kin, and less than kind’ and ‘Get thee to a nunnery!’ The play within this play is called The Murder of Gonzago or The Mousetrap. Polonius, Claudius, Gertrude, and Ophelia are in what Shakespeare play where there is ‘something rotten in the state of Denmark?’ 

ANSWER: Hamlet

14.
In chapter 24 of Joshua, he was buried in Shechem. He rejected the advances of Potiphar’s wife but was thrown into prison anyway. Once there, he interpreted dreams, including one where seven lean cows ate seven fat cows. He refused to help his family until his brothers presented his younger brother Benjamin. What eldest son of Rachel and eleventh son of Jacob had a coat of many colors? 

ANSWER: Joseph
15.
It is completely absent in Rokitansky syndrome and it can have benign tumors called fibroids.  Its layers are the perimetrium, myometrium, and endometrium.  Regions of it are the body, fundus, isthmus, and cervix.  Name this major female reproductive organ that is removed in a hysterectomy and is also known as the womb.

ANSWER: uterus (prompt on womb)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Consisting of the only infinite cyclic group, they are closed under subtraction, addition, and multiplication, but are not closed under division.  The set of them is represented by a bold Z.  Name this type of number that consists of zero, the natural numbers, and their negatives.

ANSWER: integer(s)

2.
This state’s town of New Shoreham is located on an island, 13 miles from the mainland, in the Outer Lands region. It contains the headquarters for Citizens Financial, CVS, and Hasbro. It is nearly split into two by Narragansett Bay. Its namesake landmass is also called Aquidneck and contains the city of Newport. Its official name is ‘(BLANK) and Providence Plantations.’ Providence is the capital of what smallest state? 

ANSWER: Rhode Island
3.
He wrote a diary between 1910 and 1923, and then in 1917 also began writing in his ‘Blue Octavo Notebooks.’ His numerous short stories include ‘Description of a Struggle,’ ‘Josephine the Singer,’ and ‘In the Penal Colony.’ His last novel, Amerika or The Man Who Disappeared, was publish posthumously in 1927. What German-speaking resident of Prague created the characters of K., Gregor Samsa, and Josef K. in his novels The Castle, The Metamorphosis, and The Trial? 
ANSWER: Frans Kafka
4.
Due to the conditions encountered filming this TV show, most of the equipment used is destroyed or unusable by the end of the season.  A video game based on this show was released in June 2008, subtitled Alaskan Storm.  Following, among others, the Cornelia Marie, Time Bandit, and Northwestern and narrated by Mike Rowe, this is what Discovery Channel show about crab fishing on the Bering Sea?


ANSWER: Deadliest Catch
5.
Two alternative theories - wave heating and magnetic reconnection, attempt to explain the high heat levels in this region.  From the Latin for "crown", magnetic flux loops generated in this layer are the precursor to solar flares and mass ejections.  Consisting of ionized plasma, this is what region of the sun, visible only during a solar eclipse?


ANSWER: corona
All questions ©2008 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

